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QUIZ

1. �At the start of his speech, David Cameron 
uses an image about ... 
a) being lost in the desert. 
b) maritime navigation. 
c) following a well-known path.

2. �He is saying that ... 
a) he will leave his job just as soon  
      as possible. 
b) there is no hurry for the country  
      to have a new leader. 
c) he wants to resign before detailed  
      negotiations with the EU start.

3. �He suggests he took his decision to resign ... 
a) immediately. 
b) within minutes. 
c) after much reflection.

4. �He feels that ... 
a) detailed planning for a transition of power should start  
      immediately. 
b) he should leave office before an event in the autumn. 
c) everything can wait until October.

5. �Why does he mention Article 50? 
a) It is necessary for an official process to begin. 
b) No negotiations can take place without it. 
c) It is at the heart of the problem.

Answers : 1. b - 2. c - 3. c - 4. b - 5. a.
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